MIRS1205 E#R—FRBER [BERtVY] (@
HERH H.24. 6/22 (£) 27°C

Fi (AR—7)
1R

(cm) 200 50 100 150 200
1B 20 50 101 152 198
2[6 H 200 50 101 150 198
3[E H 20 50 101 150 200
4[a1 § 200 50 101 149 197
5[E B 20 50 102 150 200
6[2] B 200 50 100 150 197
B 20 50 101 150.1 198.3
jR= 0% 0% 1% 0.07% 0.85%
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-60 ¥
(cm) 200 50 100 150 200
1B 20 84 9999 9999 9999
2[A H 20 86/ 9999 9999 9999
3[E H 20 84 9999 9999 9999
F{E 20 846
L 0% 69.2%

(cm) 200 50 100 150 200
1[E B 20 45 9999 9999 9999
2[A H 20 49/ 9999 9999 9999
3[E H 20 45 9999 9999 9999
F5{E 20 46.3

RE 0% 7.40%
30 rg
(cm) 20/ 50 100 150 200

1A H 20 9999 9999 9999 9999
2[E1 B 20 9999 9999 9999 9999
3E B 20 9999 9999 9999 9999
FEHE 20

= 0%
60 rg
(cm) 20/ 50 100 150 200

1[E1H 20 9999 9999 9999 9999
2[E 1 H 20, 9999 9999/ 9999/ 9999
3EH 20 9999 9999 9999 9999

EHIE 20

hE 0%

M

(cm) 20/ 50 100 150 200

1[E B 20 52 100 9999 9999
2[a 20 49 103 9999 9999
3[E H 20 49 103 9999 9999
FE5{E 200 50 102
FR= 0% 0% 2%




